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Assignment 4 Solution

E(X)= 0(0.4) +1(0.3) +2(0.2) +3(0.1) = 1
V(X)=EX*HE(X)}
=(0)%(0.4)+(1)%(0.3)+(2)%(0.2)+(3)*(0.1)-(1)> =1
* g(X)=1

b.

e o 0

x 0 1 2 3
y 2 5 8 11
Pyy 04 03 02 0.1

E(Y) = 2(0.

V(Y)=E(Y?)-
=(2)%(0.4)+(
a)=3

5(0.3) + 8(0.2) + 11(0.1)
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e & 0O

4) +
{EMY
5y

(0.3)+(8)*(0.2)+(11)%(0.1)-(5)* =9

d.
o E(Y)
o V(Y)

E(3X+2) = 3E(X)+2 =5
V(3X+2) = 9V(X) = 9



b, =E®X)= D xP(x)=1(7)+2(2) +3(1)=14

o*=VX)= > (x-w)’P(x)=(1-1.4) TN+ (2-14)7(2)+(3-1.4)7 (1) = .44
u,=E(Y)= D yP(y)=1(6) +2(4)=14

o?=V(¥)= D (y-1)’P(y) = (1-14) " (6) + (2-1.4)* (4) = 24

DDyl y) = (D()(42) + (D@)(28) + ()(D(12) + ()(2)(.08) + (B)(1)(.06) + (3)(2)(:04) = 1.96

allx ally

COVEX. Y)=D D xyP(x,y)— pp,=1.94 - (14)(14)=0

allx ally

o, =+Jol =44 = 66, G},=J0_§,=J.2_'=.49

_covx.Y) . 0
s (66)(49)
c Xty P(x +v)
2 42
3 40
4 14
5 04
3.

(a)  E(P)=(0.4)($50) + (0.6)($100) = $80
®)  op =+/(4)2(9000) + (.6)* (15000) + 2(4)(.6)(7500) =102.18

|

Let X' = number of on-time tlights.
(a) P(X=4)=0.2128.
(b) PX=6)=03153
(c) PX>5)=0.9294
(d) EX)=4.95 o,=0.9307

[

(a)  P(X=0)=0.0834
(b)  P(X=1)=0.2351
() P(X<2)=06169
(d  P(X > 3)=0.3831
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8.

aP(X=5with u =14/3) =

b.P(X=1with p= 13)=2

mean = 1 standard deviation = 0.9747
P(X=0)=0.3585 (¢) PIX=1)=0.3774 (d)yPX = 2)=0.2642

P(Y<35)=P(X=0)+P(X=1)+ P(X=2) + P(X=3) + P(X = 4)
e“(6) e“(6) e°(6) e°(6) e°(6)

= + + +
0! 1! 2! 3! 4!
=0.002479 +0.014873 + 0.044618 + 0.089235 + 0.133853 = 0.2851
(o)
PX=5)= T =0.1606

PX>5)=1-PX<5)=1-02851=0.7149

- c(6) (6
P(X=40orX=5)=P(X=4)+P(X=5)= TR =0.2945
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=.2388




